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(a) Calculate the order of priority for production in the period with the objective of
maximising contribution.
(6)
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(). C

X




(d) Explain the meaning and importance of the term principal budget factor.
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(a) Prepare a profit reconciliation statement to determine the profit shown in the cost
accounts.
(16)

7

MR AR 00 O O Turn over »
P 5 4 3 1 9 A 0 7 2 4 urno



VIUSIHLNEILIYM ION.Od

DO NOTWRITE IN:-THIS:AREA

VIYY STHL NEZLIALON 0

DONOTWRITEINTHIS AREA

YIHY SIHENEI LA LON-Od

DONOTWRITEIN-THIS AREA

1 9 A0 8 2 4

P 5 4 3

<
=
N
[10]
£ Il
ran
¢ S
m 0 —
N —
u = —
= —
© =
= —
v e ]
O -~ —
mnm —
—
= —
& —
=d —
”vl I
) —
& ]
Mw —
= . I
” I
c |V ]
—
Ho [~ —
h
- —
>~ © —
= S I
A = —
F=g
e
N |%
= L
™ o
=
=)
- )
uwl =
(=) —
-]




BLANK PAGE

%
53
TS
RS
oo~

9

MR AR 0 O Tam over »
P 5 4 3 1 9 A 0 9 2 4



VIUSIHLNEILIYM ION.Od

DO NOTWRITE IN:-THIS:AREA

YIUY SIHENEZLIHMNLON:OC

DONOTWRITEINTHIS AREA

YIHY SIHENEI LA LON-Od

DONOTWRITEIN-THIS AREA

(e
= e
© S
(@]
A .
kS 2 E
= <
..CI\. (@) ”.
0 C n_r_
£ = 3 <
i) 4 n
3 IS <
= o =
o e > |
< o 4 4 m
o — = L n
= g (& =
4 MA = aa E="
< s X| & @ <
g s S yRimIRIE:
@ — .2 S
o = R 9 w. W= a
‘5 . T |
= a r= S
@ g o = g [[3
— - Yo
= & b= S M.A [an o
Y < i WL
: & = [d
c 3 g e
— a q = == el >
= fa.
= =
. o o IS
R = [ g |3 X |+
A H C
(] < I = 9] - -
> N s i K%,
£ E= $@ J 10w o |09 ® ININ
H L=, b iy [=) T i o))
c o g a @. 2 M S ™ A
= C L O S b
[ = ps o .% I A
o = o = £
) 1 3 g || @
< = g o | | S T,
ST 7 O 2 A
e -
- (&) += S U 1
2 858 cnmre 22 T o F e 250RG
p— \
= | = < o ML N )m + D = + ~N QI T _-1. try
— (¥ r 4] O] = OO O OO
v i { W o @ |8 |la ¢
> q = a .
OH@!‘@ ¢ [l 3 | Sike ﬂwmﬂ a .2
© L . [ Iy
>S5 d . MY = & =
Iaho I@ P I... M - N L = % .E o e \Q —+ N M SN
3 Flw [ > = < [H [F >
M 7

1.9 A0 1 0 2 4

3

4

P 5

10




"DONOTWRITEINTHISAREA = = =

<
m.
O
=L
I‘-e]
S
=
Zz
A
=
0L
=
=
O
0y
S0
o

N
(a) Calculate, for the new equipment, the:
(i) Net Present Value (NPV)
(6)
y,
MR 0RO R .
P54 3 1 9 A 01 1 2 4 Turn over »



VIUSIHLNEILIYM ION.Od YIUY SIHENEZLIHMNLON:OC YIHY SIHENEI LA LON-Od

DONOT WRITE IN-THIS:AREA DONOTWRITEIN THIS AREA DONOTWRITE IN-THISSAREA

3

[@

=

Q

o

(@)

=]

. @
=

o [,

c U

= =

X =

o >N

tm @

[O) 1S =

-—m m

o @)

—_— 9

5 z
Q

b= 4

£ e

= <

g

4 31 9 A0 1 2 2 4

5

P

12




/\
-
S
o
i
Q-

=4
=

2.

3,368
S

A

T

DO NOTWRITE INTHIS AREA

 DONOTWRITEINTHISAREA

“DONOTWRITEINTHISAREA ==

(c) Explain why Internal Rate of Return (IRR) and Net Present Value (NPV) do not
necessarily rank projects in the same order.
(6)

(Total for Question 3 = 20 marks)
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(a) Calculate the company’s total working capital budget requirement for the coming
year (in $).
(10)
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(a) Calculate the production costs (to two decimal places) for one unit of each
product using activity based costing (ABC).
(16)
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(b) Evaluate if the company should change from absorption costing to activity based
costing (ABC).
(6)

(Total for Question 5 = 22 marks)

TOTAL FOR PAPER = 100 MARKS
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